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Exercise 13.2

Using laws of exponents, simplify and write the answer in exponential form:

(1)
(iii)
v)
(vii)
(ix)

32x34x 38
a’xa’
(52)2 + 53
a* xb*

(220 + 215) x 23

#. Answer 1:

(i)
(i)
(iii)
(iv)
v)

(vi)
(vii)
(viii)

(ix)

(x)

32 X34 x 38 — 3(2+4+8) — 314

615 +610 — 615—10 — 65

T x7? =72

(5°) +5° =5°° +5° =5° +5°
=563 _ 53

2°x5° =(2x5)’ =10°

a*xb* =(a><b)4

(3 -3

(220 +215)>< 23 - (zzofls)x 23

- 25X23:25+3:28

8 +82=8"

1

(i) 615 =+ 610

(iv) 7*x7°
(vi) 25x55
(viii) (343

(x) 8+8°
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Question 2:

Simplify and express each of the following in exponential form:

(M)
(iii)
v)
(vii)
(ix)

(xi)

(Chapter — 13) (Exponents and Powers)

g, Answer 2:

(1)

(ii)

(iii)

(iv)
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2°x3*x4
3x32
25% + 53
37
3*x3®
2°%3%°%x4°
2!xa’
43 xa’
4° xah®
4° x a°h?
2°x3*x4 B 28 x3*x2? B 22 % 3¢
3x32  3x2°  3x2°
_ 2°x3" _ 955, 43
3x2°
=2°x3 =1x3P =3
[(52)3><54}+57 :[56 ><54]+57

(i) [(52 ) ><54} Y

(iv)

(vi)

3x7%*x118
21x11

2°+3°+4°

(viii) (3% +2° ) % 5°

(x)

(xii)

— 6+4 .7 _ 10 | 7
_[5 }5 =55

= glo-7

=53

25% .53 :(52)4 L5858 .58

— 5873 :55
3x72x11°  3x7?x11°
21x11°  3x7x11®

=337 x11° = 7x171°

2

=377 %1183
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37 37 37 m n m-+n
(V) m:?{l—_ﬁ:? ':'.'a xa =a ]
=37 =3 =1 [ a"+a'=a""]
(vi) 20 43°+4°=1+41+1=3 [ a’=1]
(vii)  2°x3°x4° =1x1x1=1 [ a"=1]
i) (37+2°)x5° =(1+1)x1=2x1=2 [ a’=1]
_ 2xa®  22xa® 282xa’ m\" o men
(i) 43><a3:(22)3xas':26><a3 |: (a ) =a :|
= 986 as-z _ 22y az I: a"-a" = am—njl
= (2a)2 [ a"xb" —(axb)m:|
(x) (Z—zjx a®=(a"*)xa’ =a’xa’ [~ a"+a"=a""]
= 28 — gl [ - a"xa" = am+n:|
(xi) j: : Z:EZ =4"xa>’xb*? =4"xa’xb [ a"+a" = amfn:l
=1xa’xb=a% [ a’ :1:|
i) (2°x2) =(221) =(2*) [+ a"xa"=a""]
— 24><2 — 28
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Question 3:
Say true or false and justify your answer:
(i) 10x 101t =1001 (ii) 23>52
(iii) 23x32=65 (iv) 39=(1000)°
#. Answer 3:
(i) 10x10" =100"
LHS. 1041 = 10v and RHS. (10°)" =107
Since, L.H.S. # R.H.S.
Therefore, it is false.
(ii) 2°>5°
L.HS. 2°=8 and RH.S. 5°=25

Since, L.H.S.is not greater than R.H.S.
Therefore, it is false.

(iii) 2°x3?=6°
L.HS. 2°x32=8x9=72 and RHS. 6°=7,776

Since, L.H.S. # R.H.S.
Therefore, it is false.

(iv) 3° =(1000)’
LHS. 3°=1 and RHS. (1000)" =1

Since, L.H.S.=R.H.S.
Therefore, it is true.

Question 4:

Express each of the following as a product of prime factors only in exponential form:
(1) 108 x 192 (i) 270
(iii) 729 x 64 (iv) 768

€. Answer 4:
(i) 108 x 192

4

www.tiwariacademy.com
A Free web support in Education


http://www.tiwariacademy.com/
http://www.tiwariacademy.com/

Mathematics

www.tiwariacademy.com)

(Chapter — 13) (Exponents and Powers)
(Class - VII)

108x192 = (22><33)><(26 ><3)

— 22+6 ><33+1
=2°x3*
(ii) 270
270 = 2x3°x5
(i) 729 x 64
729 x 64 = 3¥x2°
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W N N N N N DN

192
96
48
24
12

W W W NN

108
54
27

270

1 W W W N

135
45
15

64

N N N N

32
16
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729

243
81
27

W W W W W W

(iv) 768

768 = 2°x3 768

384

192

96

48

24

12

W N N N N N N NN

Question 5:
Simplify:
5\2 53
o @
8’ x7
25x 57 xt®
10° xt*
3 x10°x25

5 x6°

(ii)

(iii)
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€. Answer 5:
(25)2 x7° 27T
8°x7 (23)3><7
20 <7
T T
= 2100 73 = 2x 72

=2x49
=98

(i)

(i) 25x5° xt° _ 52 x5% xt°
10° xt* (5>< 2)3><t4
52+2 Xt8_4
NS
_ 5'xt?
T x5

_ 5473 Xt4

iy SXA0x25 3 x(2x5)’ x5
5" x6° 57 x(2x3)°
P x2°x5°x5?
5 x2°x3°
_ 35X25X55+2
5 5%
3P x2°x5’
5 x2°x3
- 25_5X35_5X55_5
= 2% 3% x5°
=1x1x1
=1
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